BEXIEF

— TAHGHIN) B R T ELmy  EABE
| 9:00 [Ba@ |mEi1omH | R |4 M 1~ 4% 8:40 100MA A —MMF3
(0.914m/9.14m)
9:15 [Z+H@® |mWAEI00mH| R |5 # 1~ b#f| 855 .
2 (0.762m,/8.00m) 100mAR =T
9:30 [E14& [1500m ¥ |4 |2 LL—RLEA15%1 1~ 24| 910 .
3| gus 3~ 44| 995 1500mRA—hMfs6i
4 10:00 [E £t |3000m F14 H|ZALL—ALEA184 1~ 2#8| 9:40 |200mRAE—MMIIE
10:30 3~ 4% 10:10 T—hk
6 11:00 [Zz14 |800m ¥4 H|FALL—ALEH8%| 1~ 2#8| 1040 | J4=yiathm
11:10 3~ 4#H| 10:50 ‘AR
6 11:20 |zt [800m ¥|5 M|2ALL—A 8% 1~ 3#| 11:00 | Jr=yiathm
11:35 4~ BHFA| 11:15 ‘AR
; 11:45 B L |800m F|5 M|FALL—A 8% 1~ 3#A| 11:25 | J4=vyiathm
11:55 4~ BHA| 11:35 ‘AR
12:05 |z 3@ [200m ¥ |15 8 |RALL—RENBL| 1~ 6| 11:45 .
5| 12:20 7~1248| 12:00 |200MEX ML
12:35 13~15%4] 12:15
12:45 B4t [200m ¥ |16 #H |RALL—RENBL| 1~ 6| 12:25 .
5| 13:00 7~1248| 12:40 |200MLXHE
13:15 13~164| 12:65
1330 |&14&FE [4x100mR | ¥ | 8 # |[#raL—xtm8F—L4| 1~ 4#8| 13:10 1%
10 13:45 5~ 8#8| 13:25 4=
F—45 — FHEAR H RS 11:00~12:00 o
1400 |B14F [4xX100mR | ¥ |10 # |[#rLL—xt68F—L| 1~ 4%#8| 13:40 D
14:30 I —5— PR B RS 11:30~12:30 9~10#H| 14:10
1440 | wE @ [4X100mR | ¥ |12 # |#rLaL—xt68F—L4| 1~ 4%#8| 14:20 3%
12| 14:55 5~ 8#8| 14:35 200mZ A—k
15:10 F—4 — FHEAR H RS 12:10~13:10 O~12#4| 1450
1525 |BHE @ [4X100mR | ¥ |14 #8 |#rLL—xtm8F—L| 1~ B#FA| 15:05 43
13| 15:40 6~10#| 15:20 100mZ A—k
15:55 I —4—FRHRIR B RS 12:55~13:565 11~14%#8]| 15:35
14] 16:10 [z 338 |800m R 15:50 |z4zveatmsran
1501 16:15 [BB 38 |800m R 15:55 |os=vramsHaE
16] 16:20 [Z 14 |800m R 16:00 |z4zveammmran
171 16:25 [B14 |1500m R 16:05 |1500mAR—Kt38
18] 16:35 |B#3& |3000m R 16:15 |200mra—hsEs—
19] 16:50 |z 3@ [200m R 16:30 | 200mza—RE4—b
20] 16:55 |5 3£3% |200m R 16:35 | 200mA&a—rsES—~
_ T4 — L E5kZ Tl
10:00 |Z 15 |[EtaBk P A-BEwk 9:15
.| 10:00 |B3i@ | E= Bk P A-BEwk 9:15
10:00 |&Z4t3@ et P 9:15
(2.721kg)
2] 10:30 | B & (ES Bk P 9:00 B BIGRT
3 13:00 B 4ta (Etabk R A-BEwk 12:15
13:00 |Z @ |miEESEE [ R A-BEwk 12:15
4 14.00 |Bi @ (miEfRiLE | R 13:15
(4.000kg)




EEIGEE S35 T - E5EZ_ EAEP
900 [&Z5E [100mH T 111 & [AALC—XIRBZ] T~ 6@] 840 ——
'l 9:20 (0.762m/8.00m) 7~1148| 900 |!0OMAZ—MIE
9:40 |B35® |110mA T 19 @ [AALL—XLIm8&| 1~ 6@ 920 —
2| 10:00 (0.914m/9.14m) 7~ off| 940 |!10OMAZ—MIE
1010 | %2558 [1500m T4 @ [AAL—ALmI5&] 1~ 2@ 950 —
3 10:30 3~ 448| 1010 1500mAAX—MMtifr
10:45 [B53% [1500m T 16 W (|G A—ALmI5%&| 1~ 28] 1025
s\ 1100 3~ 448| 1040 |1500mza—rifiE
11:15 b~ o6#]| 10:b5
11:30 | B I5@ |400m T (12 @ |[GAL0—XLM8&| 1~ 4&[ 1110 .
5| 11:45 5~ 8#| 1125 74@%@?%
12:00 O~12#| 11:40
Ny AN —ME _
T215 |E 3% [700m TT76 B [A1LL—XLM8Z] T~ 6/ 1155
6| 12:30 7~1148| 1210 |1500mzs—ifsE
10:45 12~168| 1225
1300 [E 12 [100m 313 W |3/ L—XL8%| 1~ 64| 1240 o
| 1315 7~134| 1255 |1O00MAS—MIL
1335 [E2Z [100m T |75 W@ [3/LL—X 8% 1~ 54| 1315
g| 1350 6~1048| 1330 |1500mzs—ifiE
14:05 _ |11~15%] 1345
_IT—AZI*[/_I*EFH -
T075 [Z 3% [700m T 173 W 2L —XLR8Z] T~ 6%] 1155 —
5] 1530 7~1348| 1270 |19OMAZ—MIE
1250 [& 12 [100m 313 W |3/ LL—XL8%| T~ 64| 1230 —
"|13:08 7~1348| 12:45 |'OOMAX I
1325 [% 2% [100m T 13 % [3/LL—X 8% 1~ 6% 1305 —
i REZ0] 7~1388| 1390 |'OOMAX—HE
T400 [L &% [T00mH % TZ:00 ‘
? = (0.762m/8.00m) 100mR S~
E3E5 [110mH = 270 ‘
° ™ |08 tam/0.14m) 100mA >~
R ZFEE [1500m 5 7775 [T500mA5— R E
12 B8 [1500m R 14:20 [1500mzx&—NMbE
E Z3%& [100m R 7230 [T00m<&— TR
L B34 [100m R 1235 [100m 24— ik
E Z1Z& [100m R 240 [T00m 24— ik
E B14 [100m R T2:25 [100m 24— ik
E Z 0% [100m R 250 [T00m2 A— iR
E B0/ [100m R 1255 [100m 24— ik
19 BEHE [400m 0 15:00 [Z1=veammmrin
20 ZHE [UE200m [ R[5 & 1~ bG#A] 15:05 [200mzs—pFiEs—
21 BHE |miELOOMm [ R4 & 1~ 448 15:25 [ss=vvammmsthn
X o TR =y R
22 214 |4x100mR | R F—4 — FIHRAR tH RS 15:45 | 5] 500mas—t
2 H14 [4x100mR | 13:40~14:40 1650 | S2i0omaa_h
N s ] 1TET(Zy At
24 Zed@ [4X100mR | 2R F—4 — FIHRAR tH RS 15:55 | 5] 500mas—t
25 F35E [4x 100mR | 3% 13:50~14:50 16:00 | ge2oomAs—h
— TA—ILF Bk EOA =A%
TE [k & A BEoR 315
1 BIE (mEEE | & A-BEwk 9-15
LB %‘?%& ® 9-15
. g Hrer 8=
ZEE ek ¥ A BEOF 775 | SELIEA
, B1E |EiE8k R A-BEwk 12:15
B 365E |k * 1215
(5.000kg)




